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(D)&- % = # 5 % =x3% T (& HaSO43 i )k R H o

12_1’}_250(:53’: v TF o7 }\/p P m/&@i ® 5 0.10 M >
B9
(A)HCN, Ka =4.9x10°*°
(B)HOCI, Ka = 3.5x10°°
(C)CH3COOH, Ka = 1.8x10°®
(D)HCOOH, Ka = 1.8x10"*
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(A)H *v Nogg) e ik &
(B)# 2 NHs(g)
(C)*e &
(D) 4e » gt A
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15.- # /F;&frxé%((NH4)3PO4)mﬁ v
(R T B e R <
(A) 0.833
(B) 1.67
(C) 2.50

(D) 3.33

» % 3 2.50 molemd R+ o B

16.%1.0% § B + B A27°CT » — M 22024 HHEFFER G
760 FEFH RZFHOLF 2 (@/mol)s i 5?2 (LE
# 1 % #R=0.082 L-atm/K-mol)
(A)34
(B)66
(C)74
(D)88

17,2 &= 2Wg + 3059 — 2WOsg H = ~1685.4 kJ
2H2(g) + Oz(g) — ZHzo(g) =—477.84 kJ
FWOs(s) + 3H2(g) = W) + 3H20()2 F BRE S 5 5 P kI?
(A)1207.6
(B)364.9
(C)252.9
(D)125.9
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18.% v & JE2NO2 + Cla— 2 NO2Clsh 7 s 8 40 T
NO:2 + Cl2 - NO2CI + Cl (t)
NOz2 + Cl — NO2Cl ()
TR K G F R F e F RES 7
(A)R = k[NO,][CI]
(B)R = k[NO,]*[Cl,]
(C)R = k[NO,CI]?
(D)R = K[NO,][CI;]

19.F 71 & t 4 ¢ o pxARKS ?
(AYHF
(B)HCI
(C)HBr
(D)HI

20.F B 1.002 2t £ 1.122 10.0%(W/W)Fr fE 7K i3 % ek B 0 T 7] Ak
P EE? (A3 R 4f=98.0 -k=18.0)
(A)Frpe 3 B & F % 0.0200
B £ XA kA 5113 m
(C)F & » F kR 5 1.00 x10° ppm
(D) # % 2 kA& 50.114 M
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(A) T2~ 47
(B)f # 3 &
(C)i # A ¥
(D)# 1%

22.#-100.0 mLz 0.500M ? f& 4 ;3 ;& HCOONa(q¥? 100.0 mL=2 0.100
M HClagfe fl & ¥ 3k » RaR? [H]ER -
(" R HCOOHZ2 Ka = 1.74x10%)
(A)4.35x107° M
(B)1.74x10° M
(C)4.35x107* M
(D)1.74x10°* M
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(B)CuU* (aq) » % ¢ 2 73 i
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(A)#3M NH3& -k (77 § 22 5 &

(B)Pb?* 22 K2Cr204i% % 17 ¥ g é’r_ 2R UK
(C)AQCI ~ Hg:Cl2i® & it ik ® gCI% RN PR

(D)AQCI ~ Hg2Cl2 ~ PbCl2i® & #tidik ¢ > HQ2Cla % 3 »% # -k

26.M I G e 7 0 T Al A R F]JIEE?
(A)S04% ¥ Ba(CH3COO)23aq) it * A 4 § &
(B)C204% 2 KMnO4 ¥ * & 4 % ¢ 3 ?fi;
(C)S* & Pb* (aq)f® * A 2 ¢ 4 |
(D)Br & HNOg3(aq) It * A 2 1z

AT R o T AR R R 7
17 {?* iz?li@éfi“ - oAy &
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(C)i #k if s ﬁgm*ﬂwfrﬁvﬂ Po

(D)T B AT A LA EIok BA 2

28 R FHREFCaz EA Y K2~ B % A B L 156% 14.5% -
17.3% > F R o 72 % 2 TEE L -
(A)0.18 %
(B)0.93 %
(C)1.75 %
(D)2.09 %
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Agleb > UK “q_ﬁ//a‘)t‘#c 7_ 18 7}?—1 AgCl(s)é_ 0. 469 ’ )’L-: R E 4

" AgClen€E £ 7 & 1 o

(A)56.1 %
(B)60.5 %
(C)64.9 %
(D)68.7 %
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(A)T R &% 0 L #F 50

(B)# 7z £ ~14.15 mLE A » 7 m ¢ * £ 7 £ >
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(D) iFif TA 7P > FHBRT ENER P KT

324 #§:0.8000% 048 ¥ = 7 f & 4 (KHP) > fe ’@1;\: 100.00 mLi3 i
(IS iNaOH%ﬂ Bp e o b F RBP i H B2 5 F 220.00 mL
NaOH:3 % » #NaOH# % # ¥ Bk & ? (& 5 £ KHP=204.22)
(A)1.0533 M
(B)0.8264 M
(C)0.5109 M
(D)0.1960 M

33.740.1M2 NaOHaq) ¥ & i3 & jf €50 mL & fr i3 ik > S § Hdp 7
B oa w7
(A)" A% (pH#® ¢ § ¥13.1~4.4)
(B)" A& = (pH%¥ ¢ # F14.2~6.2)
(C)i%m 4 % p» E(pPH% ¢ § ¥16.0~7.6)
(D)f~ ft (pH#® ¢ # §8.0~10.0)
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34.4 7-0.80005 i > £ R R fFE R H % 2B R S Fe? £

20.05000 Mz KZCI’ZO?(aq)’fﬂl —? AR /? CA Ti% F R &R f!}}.p‘:‘% * /F

72000 mL> R AR HBY Behr B A (R F B Fe=55.85)

Cr207% + 6Fe?* + 14H* — 2Cr®* + 6Fe* + 7H20

(A)35.36 %
(B)41.89 %
(C)46.51 %
(D)53.29 %

B5.M TG XA AT 2k T Al feid iy B
(A)NaCl# i * % 1% 5 &84 % 2 & T_H
(B)Fajanig @iz » ¥7 % i > 1= & ¥ £ 3 %fﬂ:rfﬂ
(C)Mohrif =iz ¥ Jis * * & 4+ (CI') % &4+ (Br)~ = &
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(D)Volhardig %2 » 47 424 5 P& > r2 4 P 4 (Fe®) 5 47 7 &l
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(BYA & iF iz 5 % » & B4 1 2
(C)EDTAIZ 2L ]_m_‘g_"_}l ﬁ';;lsb __53 .4;: %Fﬁ/ﬁ-
(D)EDTAF %2 ¥ * K| 2k el

37.%0 #-100.0 mL ~ 95.00% = iF## # 1§ = 70.00% < iF 4 kR OF Ao
7 "mbLer s kR ?
(A)26.7
(B)35.7
(C)46.2
(D)58.3

38.2 4 Ca(OH)22 Ksp=4.0x10"%> 3% % Ca(OH)2£0.1M NaOH3 i% # =
% B % f2 & (mol/L) -

(A)0.043
(B)0.0225
(C)0.0159
(D)0.004
39.M 3t R hEA/T Rk (UVIVis)k i » 472 » T Sl skt P b F Y
(A)F 2 F & & 42 100nm~800nmit & s &
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(C)i &% ko L mf a A
(D) = UV/Visp & %Fﬁﬁxﬁtméﬁﬁ%a% H%‘r
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